i sml sm2 (x=0.5)
sr| M Mepon | Exp-SM Exp- SM - by | 204 TeV my =14 Tev
(GeV) (GeV) (before fit)  (after fit) Mo = 0.2 TeV Mo = 0.5 TeV
1 0-500 83.0£19.0 97.0+£89 90 359 +£43 < 0.01
2 0-500 500-1000 | 63.0+11.0 743+59 88 113+ 1.6 0.34 £+ 0.05
3 1000-1500 | 4.84 098 552+0.85 6 0.37 £0.11 1.37 £ 0.18
4 > 1500 0.414+0.15 044 +0.16 0 0.03 £+ 0.02 0.24 +0.04
5 500-1000 | 19.7+35 223+25 21 1.16 + 0.20 0.11 £ 0.02
6 500-1000 1000-1500 | 145+26 16.5+2.0 17 0.74 +0.14 744 + 0.86
7 >1500 | 4.00+130 3574+099 2 0.12 £ 0.04 227 £0.31
8 10001500 1000-1500 | 2.70 £ 0.57 299 +048 3 0.03 +0.02 0.07 + 0.01
9 >1500 |4.39+0.79 5.00+063 10 0.12 £ 0.04 0.23 £ 0.04
10 > 1500 > 1500 | 3.53+0.84 3.77+0.72 1 0.06 + 0.03 0.03 £ 0.01




